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Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from each Section as per

instructions given.

Section—A

Note : Attempt any two questions from this Section

in about 700 words each. 2%20=40

1. Why was the Fiscal Responsibility and Budget
Management Act, 2004 enacted ? Explain how
far this act has been successful in fiscal
corrections and consolidation of the central and

state governments’ financial status. 10+10=20

P.T.O.
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2. What are the main causes for slow growth in
agriculture sector ? Bring out the major policy
Initiatives undertaken by govt. to accelerate the
growth rate and enhancing of farmers income

In recent years. 8+8+4=20

3. Distinguish between current account and
capital account of balance of payment. Give an
account of trends since 1991 and challenges of

India’s balance of payments. 8+8+4=20

4. What are the income and non-income indicators
of poverty in India ? State how the policy of
inclusive growth can solve the problem of

poverty in India. 10+10=20
Section—B

Note : Attempt any five questions from this Section

in about 400 words each. 5x12=60

5. Do you agree that economic development has
its environmental consequences in India ? Give

arguments in support of your answer. 6+6=12
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Describe the major challenges being faced in
the infrastructure development in India. How
far the public-private partnership can address

these challenges ? 6+6=12

Describe the recent measures taken by the
government to encourage foreign direct
investment in India. Are these measures enough

to attract it in current scenario ? 6+6=12

What do you mean by the term ‘social
security’ ? Critically explain the promotional

social security measures in India. 4+8=12

Identify the issues and challenges faced by
MSME sector. How far the government policy
measures have been effective to in accelerating

the growth of MSME sector ? 6+6=12

What are the causes that have led to the spurt
in service sector growth in India ? Discuss the
positive and negative effects of GST on the

growth of service sector. 6+6=12

P.T.O.



[4] MEC—205

11. What is market failure ? How does state
intervention tackle the problems caused by

market failure ? 4+8=12

12. Write short notes on any three of the following :

3xX4=12
(a) Demographic dividend

(b) Merit goods
(¢) Human Development Index (HDI)
(d) Equity Derivatives

(e) Good Governance
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MEC-205
ehell oo ((etedvmer ) (Tw. €. 9t.)
PG IR
faawr, 2023
TH.E.H.-205 : VR 3SR wifd

gag : 3 HqU2 AfYFHaT 3TF ¢ 100

T : g% 9 F G FINH & IW @ W
fRemgaR it

HT—h

M .39 97 9 fr=l o v & SW (FIH)
ST 700 VR H @) 2x20=40

1. TShIUE STRETIE iR aoie geeA  ifufay,
2004 F RN T ? WR &KW R IR
aAfufam foxdia gurl o #= de1 T9 WWHR
&1 foxia feafqd & w@®A (THIHW) H Hal
a% q%d @l &l 10+10 = 20

P.T.O.
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2. &ftw &= ¥ i wafs & q& wne = E ?
gl & anf H gfg W A e @ iR ferwmt
F AT TEH & U WHR g & T THE@

TfaTd ggall &1 Sooid HITST| 8+8+4 = 20

3. JEE IW & A T IR Y T & W=
TR W HITST 1991 ¥ TEHEI A 9RG &
PTAH Gger i FHIfqar 1 faerer ffsm)

8+4+8 = 20

4, 9RG § T ® S SR IR-3MF Tehdaskh o
g ? =aeu 6 e weR wmEsh faem ifq
I | T T GHE G Hehdl 2

10+10 =20
gues—9

e ;3@ 9 ¥ fEEl wie w B S (TIH)
ST 400 vs | S| 5%12=60

5. 1 o9 34 9d § HeHd ® T 9Rd o ik
foerrg & o1 gEfeRuig afomm € 2 39 W
% U H de <Ife) 6+6 = 12



10.

[7] MEC—205

IR H STOEEH fow™ & §0e 3 arel &A

<MHIfqEl o1 G SIS e -fe e
T gHfaal &1 9 T3 dF T B Fehd!
g ? 6+6 =12
qd # yaw foseht fae &1 wienfed & &
fau TR g '« € feu U SurE & oA
HIST| T ¥ UM Id9E IRGYT | 39 STeh{va
*H & faw T g 2 6+6 = 12

‘e GREM’ U § MUk A Ay ® 2

qRd H WcaeAceh  |misieh  {Re Ut Wi

ATAECHS U Ghﬁlr\fl'{l 4+8 =12

gew, oy SR Ty 3@rl (MSME) gR |rHAl
fPq &M ol Hel SR gAIfGEl wl geeu)
MSME &% & fosm & 7fd 39 ¥ WaHR &
i U wEl q% YWEl W € ? 6+6=12

9 % ¥ ®RO ? S 9Rd & Ger &9 6
gfg © sl @ € ? Fal & % faew™ W GST
(g T Wl ) & HHWHS AR THRHS
@l 1 ==l hiferg| 6+6 =12

P.T.O.
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11. ISR fawerar s % ? SR fawear & &R

IO st 9 Y (TER) TWeY &9
e @ ? 4+8 = 12

12. frefafed & 9 fe<l @9 W dfew femforar
fafaa . 3x4 =12
(h) SHIfcheh I TSN

(@)3= (AfE) agu

(1) Ae okt geehish (HDI)

(=) it gea—ah
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